Thin Maintenance Overlay Project Phase II (Rebid 2)

Specification No. PW 18-58R2

Owner: City of Oxnard

Bid Open	ing: 2/4/20			Hardy & Harper, Inc.		Toro Enterprises, Inc.		Cor	onstruction npany	Sully-Miller Contracting Company	
			32 Rancho Circle Lake Forest, CA 92630		2101 East Ventura Blvd. Oxnard, CA 93036		4820 McGrath Street, #101 Ventura, CA 93003		135 S State College Blvd, 40 Brea, CA 92821		
					#1	#2			#3	#4	
Item No.	Description	Unit of Measure	Evaluation Quanitity	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount
1	Mobilization/Demobilization (shall not exceed 5% of the total bid)	LS	1	\$293,346.15	\$293,346.15	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00
2	Traffic Control And Public Convenience And Safety	LS	1	\$514,177.00	\$514,177.00	\$570,000.00	\$570,000.00	\$292,369.00	\$292,369.00	\$70,307.00	\$70,307.00
3	Storm Water Pollution Prevention Plan	LS	1	\$88,746.00	\$88,746.00	\$43,000.00	\$43,000.00	\$85,000.00	\$85,000.00	\$3,000.00	\$3,000.00
	0.10 – Feet Thick Thin Maintenance Overlay										
4	Cold Mill AC Pavement (2" Max)	SY	100,000	\$3.00	\$300,000.00	\$2.95	\$295,000.00	\$4.20	\$420,000.00	\$2.50	\$250,000.00
5	Unclassified Excavation	CY	1,000	\$64.18	\$64,180.00	\$75.00	\$75,000.00	\$91.00	\$91,000.00	\$132.00	\$132,000.00
6	Class 2 Aggregate Base	TN	1,600	\$39.00	\$62,400.00	\$32.00	\$51,200.00	\$42.00	\$67,200.00	\$63.00	\$100,800.00
7	Asphalt Concrete, Type III (DGAC-B2 PG 64-10)	TN	1,300	\$154.16	\$200,408.00	\$110.00	\$143,000.00	\$123.00	\$159,900.00	\$169.00	\$219,700.00
8	Asphalt Concrete, Type III (DGAC-C2 PG 64-10)	TN	2,000	\$154.16	\$308,320.00	\$110.00	\$220,000.00	\$122.00	\$244,000.00	\$140.00	\$280,000.00
9	Leveling/ Surface patching Asphalt Concrete, Type III (DGAC-D2 PG 64-10)	TN	1,200	\$115.06	\$138,072.00	\$120.00	\$144,000.00	\$100.00	\$120,000.00	\$155.00	\$186,000.00
10	Asphalt Rubber Hot Mix (ARHM-GG-D PG 64-16)	TN	21,300	\$115.06	\$2,450,778.00	\$118.00	\$2,513,400.00	\$126.00	\$2,683,800.00	\$133.00	\$2,832,900.00
11	Crack Seal	LB	11,500	\$4.20	\$48,300.00	\$4.15	\$47,725.00	\$12.00	\$138,000.00	\$5.00	\$57,500.00
12	Micro-Surfacing (Type II)	TN	800	\$350.00	\$280,000.00	\$343.00	\$274,400.00	\$360.00	\$288,000.00	\$420.00	\$336,000.00
13	Adjust Manhole Cover To Finished Grade	EA	232	\$1,076.00	\$249,632.00	\$1,280.00	\$296,960.00	\$1,195.00	\$277,240.00	\$1,330.00	\$308,560.00
14	Adjust Water Valve Cover To Finished Grade	EA	450	\$625.00	\$281,250.00	\$715.00	\$321,750.00	\$660.00	\$297,000.00	\$660.00	\$297,000.00
15	Adjust Survey Monument Cover To Finished Grade	EA	35	\$604.00	\$21,140.00	\$915.00	\$32,025.00	\$905.00	\$31,675.00	\$720.00	\$25,200.00
16	Adjust Water Meter Box To Finished Grade	EA	35	\$525.00	\$18,375.00	\$575.00	\$20,125.00	\$700.00	\$24,500.00	\$360.00	\$12,600.00
	Traffic Striping and Markers										

17	Install 24" Yellow Crosswalk- Ladder Type - Thermoplastic	SF	7,500	\$3.00	\$22,500.00	\$3.10	\$23,250.00	\$3.25	\$24,375.00	\$2.60	\$19,500.00
18	Install 24" White Crosswalk- Ladder Type - Thermoplastic	SF	3,750	\$3.00	\$11,250.00	\$3.10	\$11,625.00	\$3.20	\$12,000.00	\$2.60	\$9,750.00
19	Install Bike Lane Symbol With Arrow Pavement Marking - Thermoplastic	EA	47	\$100.00	\$4,700.00	\$103.00	\$4,841.00	\$108.00	\$5,076.00	\$154.00	\$7,238.00
20	Install "STOP" Pavement Marking - Thermoplastic	EA	98	\$100.00	\$9,800.00	\$103.00	\$10,094.00	\$108.00	\$10,584.00	\$288.00	\$28,224.00
21	Install "AHEAD" Pavement Marking - Thermoplastic	EA	15	\$125.00	\$1,875.00	\$129.00	\$1,935.00	\$135.00	\$2,025.00	\$390.00	\$5,850.00
22	Install "SLOW" Pavement Marking - Thermoplastic	EA	14	\$100.00	\$1,400.00	\$103.00	\$1,442.00	\$108.00	\$1,512.00	\$288.00	\$4,032.00
23	Install "SCHOOL" Pavement Marking - Thermoplastic	EA	12	\$200.00	\$2,400.00	\$207.00	\$2,484.00	\$215.00	\$2,580.00	\$460.00	\$5,520.00
24	Install "XING" Pavement Marking - Thermoplastic	EA	11	\$100.00	\$1,100.00	\$103.00	\$1,133.00	\$108.00	\$1,188.00	\$288.00	\$3,168.00
25	Install "PED" Pavement Marking - Thermoplastic	EA	3	\$85.00	\$255.00	\$88.00	\$264.00	\$90.00	\$270.00	\$231.00	\$693.00
26	Install "YIELD" Pavement Marking - Thermoplastic	EA	1	\$100.00	\$100.00	\$103.00	\$103.00	\$108.00	\$108.00	\$390.00	\$390.00
27	Install "KEEP" Pavement Marking - Thermoplastic	EA	25	\$100.00	\$2,500.00	\$103.00	\$2,575.00	\$108.00	\$2,700.00	\$288.00	\$7,200.00
28	Install "CLEAR" Pavement Marking - Thermoplastic	EA	25	\$100.00	\$2,500.00	\$103.00	\$2,575.00	\$108.00	\$2,700.00	\$390.00	\$9,750.00
29	Install RR-XING Symbol Pavement Marking - Thermoplastic	EA	23	\$200.00	\$4,600.00	\$207.00	\$4,761.00	\$215.00	\$4,945.00	\$430.00	\$9,890.00
30	Install 24" RR-XING Transverse Line - Thermoplastic	LF	300	\$3.00	\$900.00	\$3.10	\$930.00	\$3.25	\$975.00	\$5.60	\$1,680.00
31	Install Arrow Type IV Pavement Marking - Thermoplastic	EA	226	\$75.00	\$16,950.00	\$77.00	\$17,402.00	\$81.00	\$18,306.00	\$84.25	\$19,040.50
32	Install Arrow Type VI Pavement Marking - Thermoplastic	EA	20	\$85.00	\$1,700.00	\$88.00	\$1,760.00	\$92.00	\$1,840.00	\$253.00	\$5,060.00
33	Install Arrow Type VII(L) Pavement Marking - Thermoplastic	EA	6	\$100.00	\$600.00	\$103.00	\$618.00	\$108.00	\$648.00	\$168.00	\$1,008.00
34	Install Arrow Type I-10' Pavement Marking - Thermoplastic	EA	5	\$75.00	\$375.00	\$78.00	\$390.00	\$81.00	\$405.00	\$91.25	\$456.25
35	Install 6" Solid White Stripe - Thermoplastic	LF	4,400	\$0.55	\$2,420.00	\$0.60	\$2,640.00	\$0.60	\$2,640.00	\$1.26	\$5,544.00
36	Install 12" Solid White - Thermoplastic	LF	11400	\$2.00	\$22,800.00	\$2.10	\$23,940.00	\$2.15	\$24,510.00	\$2.60	\$29,640.00
37	Install 12" Solid Yellow - Thermoplastic	LF	2,000	\$2.00	\$4,000.00	\$2.10	\$4,200.00	\$2.15	\$4,300.00	\$2.60	\$5,200.00
38	Install Detail 2 - Thermoplastic	LF	12,000	\$0.55	\$6,600.00	\$0.60	\$7,200.00	\$0.60	\$7,200.00	\$0.56	\$6,720.00

39 - 40 -											
40 .	Install Detail 9 - Thermoplastic	LF	34,000	\$0.55	\$18,700.00	\$0.57	\$19,380.00	\$0.60	\$20,400.00	\$0.56	\$19,040.00
	Install Detail 22 - Thermoplastic	LF	29,600	\$2.00	\$59,200.00	\$2.07	\$61,272.00	\$2.15	\$63,640.00	\$2.31	\$68,376.00
	Install Detail 25 - Thermoplastic	LF	12,000	\$0.65	\$7,800.00	\$0.67	\$8,040.00	\$0.70	\$8,400.00	\$1.12	\$13,440.00
42	Install Detail 27B - Thermoplastic	LF	15,000	\$0.65	\$9,750.00	\$0.67	\$10,050.00	\$0.70	\$10,500.00	\$1.12	\$16,800.00
43	Install Detail 29 - Thermoplastic	LF	6,000	\$2.50	\$15,000.00	\$2.58	\$15,480.00	\$2.70	\$16,200.00	\$5.05	\$30,300.00
44	Install Detail 32 - Thermoplastic	LF	9,500	\$2.50	\$23,750.00	\$2.58	\$24,510.00	\$2.70	\$25,650.00	\$3.58	\$34,010.00
	Install Detail 38 - Thermoplastic	LF	18,600	\$1.00	\$18,600.00	\$1.03	\$19,158.00	\$1.10	\$20,460.00	\$1.96	\$36,456.00
46	Install Detail 39 - Thermoplastic	LF	52,000	\$0.55	\$28,600.00	\$0.57	\$29,640.00	\$0.60	\$31,200.00	\$1.12	\$58,240.00
47	Install Detail 39A – Thermoplastic	LF	11,000	\$0.55	\$6,050.00	\$0.57	\$6,270.00	\$0.60	\$6,600.00	\$1.12	\$12,320.00
48	Install Detail 40 - Thermoplastic	LF	800	\$0.55	\$440.00	\$0.57	\$456.00	\$0.60	\$480.00	\$1.05	\$840.00
49 (Install White Yield Line (Isosceles Triangle) Pavement Marking - Thermoplastic	SF	300	\$2.00	\$600.00	\$2.07	\$621.00	\$2.15	\$645.00	\$17.00	\$5,100.00
50 F	Paint Curb Red (2-Coat)	LF	10,600	\$1.00	\$10,600.00	\$1.03	\$10,918.00	\$1.05	\$11,130.00	\$2.64	\$27,984.00
51 I	Install Blue RPM	EA	160	\$10.00	\$1,600.00	\$10.35	\$1,656.00	\$10.00	\$1,600.00	\$25.25	\$4,040.00
ı	Miscellaneous Works										
52	Remove And Replace PCC Curb & Gutter (Type A2-8) Remove And Replace PCC	LF	300	\$74.75	\$22,425.00	\$100.00	\$30,000.00	\$80.00	\$24,000.00	\$94.00	\$28,200.00
53	Curb & Gutter, 12" CF (Type A2-8 Modified)	LF	180	\$85.04	\$15,307.20	\$89.00	\$16,020.00	\$118.00	\$21,240.00	\$99.00	\$17,820.00
	Remove And Replace PCC Curb & Gutter (Type A2-6)	LF	500	\$75.81	\$37,905.00	\$91.00	\$45,500.00	\$82.00	\$41,000.00	\$80.75	\$40,375.00
	Remove And Replace PCC Rolled Curb	LF	100	\$87.02	\$8,702.00	\$84.00	\$8,400.00	\$114.00	\$11,400.00	\$90.50	\$9,050.00
	Remove And Replace PCC Sidewalk	SF	4,400	\$11.01	\$48,444.00	\$9.85	\$43,340.00	\$12.50	\$55,000.00	\$10.20	\$44,880.00
	Adjust Traffic Pullbox To Finished Grade	EA	8	\$840.00	\$6,720.00	\$826.00	\$6,608.00	\$230.00	\$1,840.00	\$1,030.00	\$8,240.00
	Install PCC Ribbon Gutter Per City Standard Plate 117	SF	2,000	\$24.36	\$48,720.00	\$30.00	\$60,000.00	\$43.00	\$86,000.00	\$9.20	\$18,400.00
59 I	Install 24-Inch Root Barrier	LF	240	\$78.75	\$18,900.00	\$41.00	\$9,840.00	\$29.00	\$6,960.00	\$26.00	\$6,240.00
	Install Traffic Loop Type D	EA	105	\$378.00	\$39,690.00	\$371.00	\$38,955.00	\$390.00	\$40,950.00	\$450.00	\$47,250.00
60 I	Install Traffic Loop Type E	EA	165	\$357.00	\$58,905.00	\$351.00	\$57,915.00	\$365.00	\$60,225.00	\$440.00	\$72,600.00
	motali Tramo Loop Type L										
61 I	Install Green Pavement Marking (MMA)	SF	1,500	\$8.00	\$12,000.00	\$8.25	\$12,375.00	\$8.65	\$12,975.00	\$5.00	\$7,500.00
61 I	Install Green Pavement	SF EA	1,500 15	\$8.00 \$185.00	\$12,000.00 \$2,775.00	\$8.25 \$191.00	\$12,375.00 \$2,865.00	\$8.65 \$200.00	\$12,975.00 \$3,000.00	\$5.00 \$288.00	\$7,500.00 \$4,320.00

65	Install or Remove and Replace W9-1 Sign	EA	5	\$185.00	\$925.00	\$191.00	\$955.00	\$200.00	\$1,000.00	\$140.00	\$700.00
66	Install or Remove and Replace W4-2 Sign	EA	6	\$185.00	\$1,110.00	\$191.00	\$1,146.00	\$200.00	\$1,200.00	\$140.00	\$840.00
67	Install or Remove and Replace R3-7R Sign	EA	4	\$185.00	\$740.00	\$191.00	\$764.00	\$200.00	\$800.00	\$140.00	\$560.00
68	Install or Remove and Replace R3-1A Sign (Except Buses Plaque)	EA	4	\$185.00	\$740.00	\$191.00	\$764.00	\$200.00	\$800.00	\$140.00	\$560.00
69	Install or Remove and Replace R1-5 Sign	EA	15	\$185.00	\$2,775.00	\$191.00	\$2,865.00	\$200.00	\$3,000.00	\$140.00	\$2,100.00
70	Install or Remove and Replace W11-2 Sign	EA	45	\$185.00	\$8,325.00	\$191.00	\$8,595.00	\$200.00	\$9,000.00	\$140.00	\$6,300.00
71	Install or Remove and Replace W16-7P Sign	EA	15	\$150.00	\$2,250.00	\$155.00	\$2,325.00	\$160.00	\$2,400.00	\$105.00	\$1,575.00
72	Install or Remove and Replace W16-9P Sign	EA	15	\$150.00	\$2,250.00	\$155.00	\$2,325.00	\$160.00	\$2,400.00	\$105.00	\$1,575.00
73	Install or Remove and Replace SW24-1(CA) Sign	EA	33	\$185.00	\$6,105.00	\$191.00	\$6,303.00	\$200.00	\$6,600.00	\$140.00	\$4,620.00
74	Install or Remove and Replace SW24-3(CA) Sign	EA	33	\$185.00	\$6,105.00	\$191.00	\$6,303.00	\$200.00	\$6,600.00	\$140.00	\$4,620.00
75	Relocate 4-Ft High Wooden or Vinyl Fence, Complete-In- Place	LF	90	\$89.00	\$8,010.00	\$70.00	\$6,300.00	\$95.00	\$8,550.00	\$80.00	\$7,200.00
	Base Amount Total:				\$6,019,367.35		\$6,070,613.00		\$6,294,288.00		\$6,289,215.75
		Dase	Amount rotal.		ψ0,013,307.33		φο,στο,στο.σσ		Ψ0,204,200.00		φ0,209,213.73
	Additive Item #1	Dase .	Amount rotal.		ψ0,013,307.33		ψ0,070,010.00		ψ0,204,200.00		φ0,209,213.73
1	Additive Item #1 Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile.	SF	15,000	\$11.78	\$176,700.00	\$19.30	\$289,500.00	\$13.00	\$195,000.00	\$16.40	\$246,000.00
1	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning			\$11.78		\$19.30		\$13.00		\$16.40	
1 2	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile.			\$11.78 \$30.00		\$19.30 \$34.00		\$13.00 \$30.00		\$16.40 \$36.25	
	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied	SF	15,000		\$176,700.00		\$289,500.00		\$195,000.00		\$246,000.00
	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles	SF	15,000		\$176,700.00		\$289,500.00		\$195,000.00		\$246,000.00
2	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4	SF SF SF	15,000 3,656 1,200	\$30.00 \$18.11	\$176,700.00 \$109,680.00 \$21,732.00	\$34.00 \$15.70	\$289,500.00 \$124,304.00 \$18,840.00	\$30.00 \$34.00	\$195,000.00 \$109,680.00 \$40,800.00	\$36.25 \$20.25	\$246,000.00 \$132,530.00 \$24,300.00
2	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box	SF SF	15,000 3,656	\$30.00	\$176,700.00 \$109,680.00	\$34.00	\$289,500.00 \$124,304.00	\$30.00	\$195,000.00 \$109,680.00	\$36.25	\$246,000.00 \$132,530.00
3	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5	SF SF SF	15,000 3,656 1,200	\$30.00 \$18.11 \$6,825.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00	\$34.00 \$15.70 \$8,500.00	\$289,500.00 \$124,304.00 \$18,840.00	\$30.00 \$34.00 \$7,015.00	\$195,000.00 \$109,680.00 \$40,800.00	\$36.25 \$20.25 \$10,300.00	\$246,000.00 \$132,530.00 \$24,300.00
2	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia)	SF SF SF	15,000 3,656 1,200	\$30.00 \$18.11	\$176,700.00 \$109,680.00 \$21,732.00	\$34.00 \$15.70	\$289,500.00 \$124,304.00 \$18,840.00	\$30.00 \$34.00	\$195,000.00 \$109,680.00 \$40,800.00	\$36.25 \$20.25	\$246,000.00 \$132,530.00 \$24,300.00
3 4 5	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6	SF SF EA EA	15,000 3,656 1,200 5	\$30.00 \$18.11 \$6,825.00 \$4,725.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00 \$23,625.00	\$34.00 \$15.70 \$8,500.00 \$5,215.00	\$289,500.00 \$124,304.00 \$18,840.00 \$42,500.00 \$26,075.00	\$30.00 \$34.00 \$7,015.00 \$2,700.00	\$195,000.00 \$109,680.00 \$40,800.00 \$35,075.00 \$13,500.00	\$36.25 \$20.25 \$10,300.00 \$8,900.00	\$246,000.00 \$132,530.00 \$24,300.00 \$51,500.00
3	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6 Grind PCC Sidewalk Edge	SF SF SF	15,000 3,656 1,200	\$30.00 \$18.11 \$6,825.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00	\$34.00 \$15.70 \$8,500.00	\$289,500.00 \$124,304.00 \$18,840.00	\$30.00 \$34.00 \$7,015.00	\$195,000.00 \$109,680.00 \$40,800.00	\$36.25 \$20.25 \$10,300.00	\$246,000.00 \$132,530.00 \$24,300.00
3 4 5	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6 Grind PCC Sidewalk Edge Additive Item #7	SF SF EA EA SF	15,000 3,656 1,200 5	\$30.00 \$18.11 \$6,825.00 \$4,725.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00 \$23,625.00	\$34.00 \$15.70 \$8,500.00 \$5,215.00	\$289,500.00 \$124,304.00 \$18,840.00 \$42,500.00 \$26,075.00	\$30.00 \$34.00 \$7,015.00 \$2,700.00	\$195,000.00 \$109,680.00 \$40,800.00 \$35,075.00 \$13,500.00	\$36.25 \$20.25 \$10,300.00 \$8,900.00	\$246,000.00 \$132,530.00 \$24,300.00 \$51,500.00
3 4 5 6	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6 Grind PCC Sidewalk Edge Additive Item #7 City Hall East & West Wing	SF SF EA EA ADA Improven	15,000 3,656 1,200 5 5	\$30.00 \$18.11 \$6,825.00 \$4,725.00 \$31.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00 \$23,625.00 \$6,200.00	\$34.00 \$15.70 \$8,500.00 \$5,215.00 \$26.00	\$289,500.00 \$124,304.00 \$18,840.00 \$42,500.00 \$26,075.00 \$5,200.00	\$30.00 \$34.00 \$7,015.00 \$2,700.00	\$195,000.00 \$109,680.00 \$40,800.00 \$35,075.00 \$13,500.00	\$36.25 \$20.25 \$10,300.00 \$8,900.00	\$246,000.00 \$132,530.00 \$24,300.00 \$51,500.00 \$44,500.00
2 3 4 5 6	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6 Grind PCC Sidewalk Edge Additive Item #7 City Hall East & West Wing J Unclassified Excavation	SF SF EA EA CY	15,000 3,656 1,200 5 200 ment 20	\$30.00 \$18.11 \$6,825.00 \$4,725.00 \$31.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00 \$23,625.00 \$6,200.00	\$34.00 \$15.70 \$8,500.00 \$5,215.00 \$26.00	\$289,500.00 \$124,304.00 \$18,840.00 \$42,500.00 \$5,200.00	\$30.00 \$34.00 \$7,015.00 \$2,700.00 \$27.00	\$195,000.00 \$109,680.00 \$40,800.00 \$35,075.00 \$13,500.00 \$5,400.00	\$36.25 \$20.25 \$10,300.00 \$8,900.00 \$15.00	\$246,000.00 \$132,530.00 \$24,300.00 \$51,500.00 \$44,500.00 \$3,000.00
3 4 5 6	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile. Additive Item #2 Install 2' x3' Detectable Warning Surface Applied Tiles Additive Item #3 Remove and Replace PCC Commercial Driveway Per City Standard Plate 115 Additive Item #4 Relocate Traffic Pull Box Additive Item #5 Tree Removal (24"-36" Dia) Additive Item #6 Grind PCC Sidewalk Edge Additive Item #7 City Hall East & West Wing	SF SF EA EA CY TN	15,000 3,656 1,200 5 5	\$30.00 \$18.11 \$6,825.00 \$4,725.00 \$31.00	\$176,700.00 \$109,680.00 \$21,732.00 \$34,125.00 \$23,625.00 \$6,200.00	\$34.00 \$15.70 \$8,500.00 \$5,215.00 \$26.00	\$289,500.00 \$124,304.00 \$18,840.00 \$42,500.00 \$26,075.00 \$5,200.00	\$30.00 \$34.00 \$7,015.00 \$2,700.00	\$195,000.00 \$109,680.00 \$40,800.00 \$35,075.00 \$13,500.00	\$36.25 \$20.25 \$10,300.00 \$8,900.00	\$246,000.00 \$132,530.00 \$24,300.00 \$51,500.00 \$44,500.00

		•									
4	Remove And Replace 14" Sidewalk Drainage Trench & Grate, Complete-In-Place	LF	52	\$460.00	\$23,920.00	\$500.00	\$26,000.00	\$265.00	\$13,780.00	\$450.00	\$23,400.00
5	Remove And Replace PCC Storm Drain Curb Opening Per City Std Plate 124	LS	1	\$6,014.04	\$6,014.04	\$9,800.00	\$9,800.00	\$1,205.00	\$1,205.00	\$6,700.00	\$6,700.00
6	Remove And Replace PCC ADA Curb Ramp With Cast- In-Place Detectable Warning Tile	SF	190	\$36.00	\$6,840.00	\$21.50	\$4,085.00	\$13.80	\$2,622.00	\$31.00	\$5,890.00
7	Remove And Replace PCC Sidewalk	SF	1,345	\$13.00	\$17,485.00	\$10.00	\$13,450.00	\$11.00	\$14,795.00	\$5.50	\$7,397.50
8	Remove And Replace PCC Curb And Gutter (A2-6)	LF	46	\$80.46	\$3,701.16	\$74.00	\$3,404.00	\$54.00	\$2,484.00	\$89.25	\$4,105.50
9	Install Double 3-Inch White Solid Parking Stall Stripe	LF	144	\$1.00	\$144.00	\$1.03	\$148.32	\$1.00	\$144.00	\$2.50	\$360.00
10	Install 4" Solid Blue Parking Stripe	LF	264	\$1.00	\$264.00	\$1.03	\$271.92	\$1.00	\$264.00	\$1.25	\$330.00
11	Install ADA Parking Symbol (ISA) Pavement Marking	EA	5	\$50.00	\$250.00	\$52.00	\$260.00	\$54.00	\$270.00	\$91.25	\$456.25
12	Install "NO PARKING" Pavement Marking	EA	5	\$50.00	\$250.00	\$52.00	\$260.00	\$54.00	\$270.00	\$28.00	\$140.00
13	Remove Existing Parking Stall Striping	LS	1	\$2,778.00	\$2,778.00	\$2,900.00	\$2,900.00	\$3,000.00	\$3,000.00	\$3,580.00	\$3,580.00
14	Relocate Compact Parking Sign And Post	EA	1	\$150.00	\$150.00	\$155.00	\$155.00	\$162.00	\$162.00	\$264.00	\$264.00
15	Install Off-Street Parking Signs Assembly (Van Accessible) And Post Per Caltrans Std Plan A90A	EA	4	\$200.00	\$800.00	\$207.00	\$828.00	\$216.00	\$864.00	\$320.00	\$1,280.00
16	Remove And Dispose Concrete floor pad And AC ADA ramp	SF	100	\$11.62	\$1,162.00	\$16.50	\$1,650.00	\$9.00	\$900.00	\$10.00	\$1,000.00
		Total A	dditive Item 7:		\$129,743.65		\$132,192.24		\$81,400.00		\$116,383.25
	Additive Item #8										
	City Hall East Wing Parking	Lot Improvem	nent								
1	Micro-Surfacing (Type II)	TN	45	\$350.00	\$15,750.00	\$343.00	\$15,435.00	\$455.00	\$20,475.00	\$420.00	\$18,900.00
2	Remove And Replace PCC ADA Curb Ramp With Cast in Place Detectable Warning Tile	SF	200	\$17.34	\$3,468.00	\$19.00	\$3,800.00	\$33.00	\$6,600.00	\$39.50	\$7,900.00
3	Remove And Replace PCC Sidewalk	SF	100	\$44.99	\$4,499.00	\$23.00	\$2,300.00	\$21.50	\$2,150.00	\$17.70	\$1,770.00
4	Install 12-Inch Solid White Limit Line (T)	LF	20	\$2.00	\$40.00	\$2.10	\$42.00	\$2.15	\$43.00	\$5.00	\$100.00
5	Install 4-Inch Solid White Parking Stripe	LF	350	\$1.00	\$350.00	\$1.03	\$360.50	\$1.10	\$385.00	\$1.00	\$350.00
6	Install 4-Inch Solid Blue Parking Stripe	LF	220	\$1.00	\$220.00	\$1.03	\$226.60	\$1.10	\$242.00	\$1.25	\$275.00
7	Install Double 3-Inch White Parking Stall Stripe	LF	1,800	\$1.50	\$2,700.00	\$1.55	\$2,790.00	\$1.60	\$2,880.00	\$2.30	\$4,140.00
8	Remove Existing and Install 24-Inch Solid White Continental Crosswalk Striping (T)	LF	120	\$5.00	\$600.00	\$5.16	\$619.20	\$5.40	\$648.00	\$5.00	\$600.00
9	Install ADA Parking Symbol (ISA) Pavement Marking	EA	4	\$50.00	\$200.00	\$52.00	\$208.00	\$54.00	\$216.00	\$91.25	\$365.00
10	Install "NO PARKING" Pavement Marking	EA	3	\$50.00	\$150.00	\$52.00	\$156.00	\$54.00	\$162.00	\$28.00	\$84.00

11	Install "COMPACT" Pavement Marking	EA	12	\$50.00	\$600.00	\$52.00	\$624.00	\$54.00	\$648.00	\$28.00	\$336.00
12	Install "STOP" Pavement Marking (T)	EA	1	\$100.00	\$100.00	\$103.00	\$103.00	\$108.00	\$108.00	\$281.00	\$281.00
13	Relocate Street Name Sign And Post	EA	1	\$150.00	\$150.00	\$155.00	\$155.00	\$160.00	\$160.00	\$470.00	\$470.00
	Total Additive Item 8:				\$28,827.00		\$26,819.30		\$34,717.00		\$35,571.00
	TOTAL BID			SUBMITTED:	\$6,550,000.00		\$6,749,243.54		\$6,809,860.00		\$6,943,000.00
	TOTAL E			BID VERIFIED:	\$6,550,000.00		\$6,736,043.54		\$6,809,860.00		\$6,943,000.00
				Hardy & Harper, Inc.		Toro Enterprises, Inc. Pavement Coatings		Granite Construction Company		Sully-Miller Contractin Company	
		_								. ,	
		٤						Pavement Rehab Co.		CMB Structures	
	Correction to calculation.			EBS Utilities Adjustin	-	Case Land Surveying	g	California Professional Engineering		Cl Survey	_
	CP E			MD Crackfill		Chrisp Co.		Chrisp Co.		Pavement Coatings	
				CP Engineering		MV Rubberized Crac		Pavement Coatings		Superior Pavement I	-
				Case Land Surveying	g	California Profession	al Engineering	Cindy Trump Inc.		Green Coast Landso	ape
				Pavement Recycling Systems						MD Rubber Crackfill	
				RP Barricade						EBS Utilities	
	RP Barricade			·					EBS Utilities		

CPE

Superior Pavement Markings